2-

TIM KIK/ROPK 3-PJK1| 4-TIK [ 5-TSJ1 |6-UKP1|7-HSS 2 | 8-PJK2 | 9-TSJ 2 |10-UKP 2( 11-PJK 3|12-UKP 3|KAOTUS| VOIT KOHT
1-HSS 1 0 0 0 1 0 1 1 1 1 1 1 4 7 6
2-KIK/ROPK| 0 0 1 0 1 1 1 0 1 1 4 7 5
3-PJK 1 1 10
4-TJK 4 7
5-TSJ 1 8 3 8
6-UKP 1 1 10
7-HSS 2 8 3 9
8-PJK 2 5 6 7
9-TSJ 2 9 2 10
10-UKP 2 3 8
11-PJK 3 10 1 12
12-UKP 3 9 2 11




3-4. KOHT

10-UKP 2

10-UKP 2

1-2.KOHT

3-PJK1 |6-UKP1

3-PJK 1 0

6-UKP 1 1

10-UKP 2

10-UKP 2

3-PJK1 ]6-UKP1

3-PJK 1

6-UKP 1

3-PK 1

6-UKP 1

KAOTUS|VOIT KOHT
0 2 3
2 0 4

KAOTUS|VOIT KOHT
2 0 2
0 2 1







